1 J.dx - 5 x> 13 dx 1 x
= = arctgx =—arctg —
.[de 2 j1+x2 & ja2+x2 a ga
2 dx 1 dx 14 dx 1, |x-1 dx 1. |x—a
S =-— “==2x -1 —In
x? x J.\/; sz—l 2 |x+1 -[xz—a 2a |x+a
3 a+l1 15
jx“dx= | I Injx ++/x*> &k ‘
a+ \/x tk
4 ax In x| J. L —Inlax + B 6 I = arcsin x = —arccos x I arcsmf——arccosE
X ax + ,3 a ,/1_x2 B B / B B a
5 e'de=e ax e 17 N
j _[ dx—;e J.w/x +hdy =" TR otk klnx+x/x + ‘
6 X Ax 18 / _ 2
J-axdx= 4 jaﬂ"dx:la— Ix/az—xzdx=u+a—arcsin X
Ina Alna 2 2 a
7 ; —_ . 19 _
_[smxdx— COS X J.smaxdx=—icosaax jshxdx—chx
a
8 —qi 1 . 20 _
jcosxdx—smx J.cosaxdx=—s1nax jchxdx—shx
a
9 - _ 21
jtgxdx— Injcos x I tgaocdx:—%ln|coswc| j P dx = —cthx
sh”x
10 — ; 22
ICngdX—ln‘Slnx‘ I ctgoocdx:iln|sinax| j e dx = thx
a ch’x
11 dx _, dx lt 23 J dx =1—1n sin x + 1
J-COSZ X B gx J.COSZ ox B o gax COS X 2 sin x — 1
12 J- dx — ctox J- dx L oo 24 J dx 1—1n cos x —1
sin? x - sin? ax a g sin x 2 cos x + 1
sin(2x)dx = d(sin’ x) = —d(cos” x) t=sin’ x; dt=sin(2x)dx t=cos’ x; dt =—sin(2x)dx

CBoiicTBa MHTETPAJIOB: J. (C,f(x)+C,g(x))dx =C, j f(x)dx+C, J- g(x)dx

3aMeHa nepeMeHHbIX j F(p(x))- @' (x)dx = j F(Odt; tae t=(x); dt =@ (x)dx

B UaCTHOCTH: ¢ = ax + B, dt = adx; j T+ Bydx = Fox + )
[04

b
®opmyna HeroToHa-JleiiOHuIa j f(x)dx =

. =F(b)-F(a)

dopmyIia HHTETPUPOBAHHUS 110 YACTAM J. udv=u-v-— Ivdu




